(Jafe 8- Repato Tema 1 ¢ foo €300)) I)NLL

MZ\CN\"”[‘:"ﬂﬁ =0 ”%{-\-%[x}l{:q.{x)

D

Ay MY M
PRV - ROk
——
Metodos e Solmcion
/- Vd'ra'aéﬁj‘ Se/$4'r4 6/9_(‘ -Fo’rmu\l;\ L,irv{za.
- formwn® ~
2 - (1;?{,'4,'40#‘/ é—oma el

3.- Evacta_
Y — Tackor fnly van *

£Do/ 1) ML
/(74-/‘/7':'0 — 5 — P/")Q/”JS"'E/")S{H)U]':O

) S

O —z_f’”+//7te")y Y'<o

P= -1
a=e? (1 w+ )L 4=
R=/+€ (14 2%) =Y

s<y

—fﬂx A ~-Y =
j.(e:"«tﬂ x-ﬁjé’, u]o“{ 4






(OEFICI TS [Ho Mo §2Neos
/"]/x,w)+/‘/[><,~1> 'j =0 L ch
M2y = 2T MU CH

s M =A

NO 2D = X Ay, v =
25 Y’ [<*q?d = y (47+ 2*) ]

l*1= —"}(‘1:-!-2)(“)
N=2x(x=Y®>

I fao ey = - (09742095
= =y (,l'qi-* 2)'&(")
- X[~y trrad)y m=2
M (35, 34) = 2(0( a3 (')
= L2 (e
"41-3[“"“("‘;"‘ qz)> N=3

7=

- Zyaxt 2x z
‘1(;' eV e 2x By Y =
—{H‘XS{[MM\’-* zx") + 2x (Kz-l- (Mx\a\.(xu' rul) —o
_/ﬁ-x_)((/lzx?'a- 2.\:'\ -— (?\(3-# 2u2x3)- (yu’.ph) e
3 J 1 2 .
(0w’ 2ux”) + (2x° 42Ut r plu a2l =0

—u —/& +2};4-+ZMY "'(ZMM 4~2M\< M'/ =9

- .:.z.f.qx r (2 +2fo")m =2
m,x+ .?.-!-Z-Vl))(u =

f + Z+2"‘ 1
e W =o

Tou [ o) c



é@ﬁﬁ
Fxn
MY = 2
o gg Z;_Ji EACTA
jMJ.k 4 f/‘/dﬂ =(
/

£eua
{X?J— 2
wa%ye)v =0
21 _
- ZKW a"glf;(: 2\)@}\ _Q_fvl QL\f
> =Y = aw

EXALT'Q }






